Confidence Interval and Level Practice
Assume you are considering data collected by a researcher who asked 100 recent college graduates if they completed their degree in 5 years or less. The researcher reports that a 95% confidence interval for the population proportion of all college students who complete their degree in 5 years or less is (.62,.80).

a. What was the sample proportion of college students who completed their degree in 5 years or less?

b. What would the 95% confidence interval for the population proportion of all college students who do not complete their degree in 5 years or less be?

c. Which of the following statements are valid interpretations of the confidence interval?

i. There is about a 95% chance that the proportion of students who have completed their degree in 5 years or less is between .62 and .80.

ii. We are 95% confident the proportion of students who have completed their degree in 5 years or less lies in (.62, .80).

iii. We can say with 95% confidence that the proportion of students who have completed their degree in 5 years or less is less than .8.

iv. 95% of generated intervals in this setting will contain the proportion of students who have completed their degree in 5 years or less.

d. Which of the following statements are valid interpretations of the confidence level?

i. About 95% of the sample of students completed their degree in 5 years or less.

ii. There is about a 95% chance that the proportion of students who have completed their degree in 5 years or less is between .62 and .80.

iii. If we repeated this study, then approximately 95% of the resulting CIs would contain the population proportion of students who have completed their degree in 5 years or less.

iv. If we repeated this study, then approximately 95% of the sample proportions would be between .62 and .80.

v. if we repeated this study, then approximately 95% of the time the population proportion would be in (.62,.80).

vi. The probability that the population proportion falls between .62 and .80 is .95.

e. How would a 99% confidence interval compare to your 95% CI?

f. Assume you are now doing a hypothesis test for a greater than alternative with null that p=.65. You want to complete the test at a .05 significance level. What can you conclude about the hypothesis test based on the given information here?

